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lV Semester B.Com. Examination, August/September 2023
(NEP Scheme)
COMMERCE

4.2 : Cost Accounting

Time : 2/z Hours Max. Marks : 60

lnstruction : Answer should be written in English or Kannada only.

SECTION - A

Answer any six sub-questions. Each sub-question carries 2 marks.

1. a) State three advantages of cost accounting to management.

(6x2=12)

b) What are the constituents of prime cost ? '

c) What is Material Requisition Note (MRN) ?

d) What is idle time ? Mention two reasons.

e) Define overhead.

f) State any two reasons for reconciliation.

g) What do you mean by a cost centre ?

h) Calculate EOQ, from the following :

Annual consumption 12OOO units, cost per unit t 1 , ordering cost t 12 per.
order, inventory carrying charges 24%.

SECTION _ B

Answer any three quegions. Each question carries 4 marks. (3x4=12)

2. M/s Disha Ltd., furnishes the following data, prepare cost sheet showing a cost
per unit and profit for the period. ;

Raw-materials consumed T 40,000
Direct wages t 24,000
Machine hours worked { 4,000
Machine hour rate T 2

Office overhead 10o/" of factory cost
Selling overhead { 1.50 per unit
Units produced 2,000, units sold 1,800 at t 50 each

. P.T.O.



NP - 263 Ir!ililililililrililril[ilililt

3. Calculate re-order level, maximum level and average level of stock from the -
following information :

Re-order quantity 1500 units
Re-order period 4 to 6 weeks
Maximum consumption 400 units per week
Normal consumption 300 units per week
Minimum consumption 250 units per week.

4. Prepare a stores ledger account under simple average method.
Date Receipt Quantity Rate per unit lssue quantity
Jan. 2

Jan.10
Jan.15
Jan.18
Jan. 20

400 units
600 units

500 units

2.00
2.40

2.60
500 units

400 units

5. What is labour turnover ? Discuss the steps to be taken for minimizing labour
turnover.

6. A worker produced 200 units in a week's time. The guaranteed weekly wage
payment for 45 hours is t 81. The expected time to produce one unit is
15 minutes which is raised further by 20o/" under the incentive scheme. What
will be earnings per hour of worker under Halsey (50% saving) and Rowan
bonus scheme ?

SECTION - C

Answer any three questions. Each question carries 12 mdrks. (3x12=36)

7. Prakyath Ltd., furnish,the following information for 10000 units of a product
manufactured during the year 2021.
Material { 45,000 

;

Direct wages { 30,000
Power and consumable stores T 6,000
lndirect wages { 7,500
Factory lighting < 2,750
Cost of rectification of defective work { 1,500
Clerical salaries and management expenses < '16,750

;:li:flJ;::fl:ffi:Jllo o"o,eciation or p,ant { 5,250

I
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The net selling price was T 31.60 per unit sold and all units were sold.
As from 1-1'2022,the selling price was reduced to t 31 per unit. lt was estimated
that production could be increased in 2022 by 50% due to spare capacity.
Rates of material and direct wages will increase by 1O%. You are required to prepare
a) Cost sheet for the year 2O2l showing various elements of cost per unit and
b) Estimated cost and profit tor 2022.
Assume that 15000 units will be produced and sold during the year and factory
overheads will be recovered as a percentage of direct riag"6 and otfice and
selling expenses as a percentage of work cost.

8. Prepare store ledger account under

i) FtFo

ii) LIFO methods.

1't Jan. Opening stock 200 pieces @ t 2 each
5h Jan. Purchases 100 pieces @ t 2.20 each
10ih Jan. Purchases 150 pieces @ T 2.40 each
20th Jan. Purchases 180 pieces @ t 2.50 each
2nd Jan. lssues 1S0 pieces

7th Jan. lssues 100 pieces

12th Jan. lssues 100 pieces

28th Jan. lssues 200 pieces

f . i) what are the essentials of a good wage payment system ?
ii) From the following particulars prepare the labour cost sheet per man-day

of 8 hours :

a) Basic salary t'2 per day.

b) Dearness allowance 25 paisg for every point over 100 cost of living
lndex for working class, curr6nt cost of living Index 600 points.

c) Leave salary 10o/" of a) and b).

d) Employer's contribution to provideni fund g% of a + b + c.
e) Employer's contribution to state insurance 2.s% of a + b + c.
f) Expenditure on amenities to labour T 20 per head per month.
g) Number of working days in a month 25 days of g hours each.



10. The firm has three production department A, B and c and two service

department. i{rnO'V. Th" tottowing figures are extracted from the books of

the firm.
DePreciation t 4,000

lndirect wages T 600

Lighting T 240
Power t 600
Rent < 2,000
Others T 4,000
Other Particulars :

ABCXY
Floor space (sq. feet) 4OO 500 600 400 100

Direct wages (t) 9OO 600 900 900 700

Light Points 
\-/ 20 30 40 20 10

H.P. of the machines 75 30 25 10

Value of machinery (<) 12,000 16'000 2O'O0O 1 '000 1 '000
Working hours 31 13 2014 2033 

I

The expenses of service departments X and Y are to be allocated as follows :

ABCXY
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11. From the following figures,
financial Profit:

X 20% 30"/" 40%

Y 40% 20% 20%
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1A%

20%

prepare a reconciliation statement and determine

You are requested to distribute the service department expenses to the

production Oepartiri"itn, E 
""0 

Cl ,nO calculate hbuAy rate of each production

department.

Net profit as Per Qpsting books

Factory overhead'under-recovered in costing

Administration overhead recovered in excess

Depreciation charged in financial books

Depreciation recovered in costing

lnterest received but not included in cogting

lncome tax provided in financial books

Bank interest credited in financial books

Stores adjustment (credited in financial books)

Depreciationofstockchargedinfinancialaccounts
Dividends appropriated in financial accounts

Loss due to theft and pilferage provided only in financial books

{
66,760

5,700
4,250
3,660
3,950

450
600
230
420
860

.1,200

260

I
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ddd eJd.Ael' 9r

a?,pd - a

olndoaddo eg& wd-{,dorl9rl erudoxr. €,e erud{,dori 2 uodds:. (6x2=12)
1 . a) &drddri dq dAFg &drddos:od drod; {, oloeasdildd} ee,tu.

b) agda:d d{d erodrlg,: oJDdd ?

c) dxi:Ad ado8oJ.: [^3drd (MRN) aoddedl ?
d) e.?Uo$ nd:o$ aodded: ? add> adearl$dl we3_esD&.

e) dceeS*afdq mraDr0tu.

f) doooasdd dai,p$ add> oadearlgd:o erueJ_eaD&.

g) dqdeodd erfirded: ?
h) tudddo$ erded na$ (EOa) dq dod:b&o):O :

ddrdO_u98 12000 o1rro0us6il9c, r-od: olrro&o,tr dqt 1, erdedddlilad:d
dqt 12-'ga qrded, medo dro&d d?424%.

AqDd - a

otn{oaddra dtro& €,d4iteri erudo&. gg dd.,ri 4 epodrigc. (3x4=12)

2. M/s Osa O. 6r d$nd deooddlr.dAfoad, d,g o$roeutr dqd>Q end*Qdoeofod
dqd du|odrq dodraox.

daqdfgdqir T 40,000
ded dedd t 24,000
od:o$d rioo3 de,ri < 4,000
o$o$d rlooS dd T 2
dqieo d:ee3;fl10%d oaanrd da{
dnoaosd *eO;g< r.sd'4,e our6oe,r
ol:ra&o,tr wagCd 2,000, c&o&[^f drT* 1,800 E,e olrroeof { S0.

3. .& ESdod dDbgou:od aaxa&d d:& erded dr%, doqdr%d>e BoaBO drr^I
dod>bBou:o:
dr& qrded ddnea - 1500 olro0a$itgr
dr& qrded aomdQ - 4 - 6 aadrl$:
dOq u9d asaddo - 400 oiraO[,f rlsjr
;odnd, uSd aaddo- 300 c$ra&[,tril$)
d&q ?r$d aaddo- 250 olro&otrilqt.
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4. xrodef adde# deuf dd8o$Ad)e-ng€d dd*i aadcl:dl dolDo&.

Ooaod *et e m9 dd Be o$Jatt^frt OtBd ro$

zgddo 2 400 ox)o&ufrt$c 2.00

zsddo 10 600 oilJo&sf r19,: 2.40

esddo 15 500 oiJ€isfrl$.:

rddo 18 500 c)ro&osrl$J 2.60

egddo 20 400 oilol)sfrl9':

S. 6aa)rd dbanosr aodded:z 6"4)rd dbaaesdl dadJ Cnder: drid:do$;Jeaad

4&d$dr z3z3rx,.

6. deirrod$ aadd0_200 C)rD&sfrl$d1 wm,Oiood. 45 rlodrlg ando arodd dedd

mde { 81. 1 clrra&otr erusooiq: &oe6d ndro$ 15 &tudri$c. "addl dgeao^d

Co er d oJ: a o$ O_ 2 O % dd* dzgi en n d . z" % d ei ro d& ri -'qg e rl o o3 rl ! o qD dd o$$a

1) aaeJ^ oi;a ead (50% deaon6) d:dr 2) doedof o3oerdo3: drad dod:bBo9:O.

Cqnd - ,:r

oindemddJo *Ja$ ird*rt9rl erudOtu. d,e 4,d4rl 12 uodrlgc (3x12=t$)

7 . darros Otu#a,6dddr 2021 dO- eroffi dolDodo$ 1 0000 dsdrlgri ds d$nd

ilDbgo$d1z.dnld.
dd;rl$c t 45,000

deddoO t 30,000

adrrd drQ erudafoe{ dlrrl$c { 6,000

idoed droO t 7,500
q

aaanrd elrufrl$c < 2,750

doedCr:{ de.tnddl iodaxbd dqt 1 ,500

*odef deddrl$: d:dl erded dqf$, t 16'750

d>ooe^i aDd;rrl$ { 2,750

agottrd odeo, &dFd# d)8 idd9 T 5,250

4.9 c)roea,fri e*9 d>oau^ld aJei { 31.60 ri dno-ot^lmnQ d)dl aeaotro0a,trrl$)

dno.oo^laand$.l.

I
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1-1-ZOZ2Ood dnoati sSeJolr: T 31 €,.4 o1rrD&F,trrl9ri d)R Ad .2A22dO-EA

xad:frrrrleod erusoddoJrq de. 50 ri da|jflrdod erooadBennd. dfDrl$ uJeJdsro

ildl ded dedd dedaa 10 dod dz{ib, xi{daBaiea"ndra

a) daflduf 2021 dod: eed dlDils d4dq 8,.3 obroep,trrl doeoiajerofld $d?

b) eoaaxr d{ilQ wtl2022 dnda3e*d'

1 5 OOO C)Jo& [36 rlg&o eruqaB en rbS d d:d: er d e ddr d e)-dn oa e,]ila ndA u'oa:a rd o3:

abeeS;{ rls: ded deddd u6add d:eej d$eo d)dl dnoao^ld dqrs) de.:dd d4d

d:eeJ uqEdd$4 dndmnd.

8. do*ed dqd ando$d1

i) FrFO

ii) LIFO ddSo$od do$aotu
w

1de rijdo esdozpd med: 200 d:od:rl$: @ €,,e { 2

Sde xddo $oea 100 d:odrrlg: @ -'gA< 2'20

10de rddo $oeO 150 d':od:rld.> @ -'9e { 2'40

20de addo sDoea 180 d:odrlsc @ 4,e < 2'50

orc *i*A e ^er 150 dJod.)rl$:ZII &rcJU i'(Cso

7de Eddo &ead 100 d:od:rl$c

12de zsddO Dead 100 d:od:rl$;

28de rddo &ead 2oo d:od:rlsc

f . i) e,Dgdr deddd aad9C: elrldrdrleJ: ot>Edd ?

ii) dgnd eddzleod €,e dlpdbd odd6 8 rlot3rl$ 6ra)rd d?*d aa$o$d1 dodnotu :

i a) droodedd t 2 €,e addd

i O) $%qJdd 25 {d {,S aaooroutrri 100 dedd dLt, ara)rd ditrdo ioz3rod,
t_ ,tBrd dedd dr"f doz3rod 600 e'odd$r'

c) dd dedd 10% d a) d:d; b)

d) da,% OQrl erudo.rerleodd ErodJri 8o/" o' + b + c'

e) ooa, ed:rl wdorertoadd dlad>ui 2'5"/o a + b + c'

0 de Eorleri den t 20 dra&o$ htdolrrri9 dzfl

g)25add$J8rloo3rldtodr8orl$o-doBdadrl$Bo,l,
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10. Iodoll 3 eruaodoa a?.niti1$d?, A, B, C d:dQ addJ deaa sqrril X
*oBaA. dsnd ?sot erodd*d1 f,oqoa: d{drfe"oa droddrio$enn*.
BdEg T 4,000
ddoed dedd < 600
e3ro^:o# { 240
dq < 600
uIoari < 2,000
edd t 4,000
edd eddrl$r :

de.:d zrort (zsdd eE) A s3o

{,drd dedd (t) 900 600
e3rttr aaou:ottrrl$ 20 30
dzf.a. od:o$il$,: 75 30
odoodgedddeorl$ aPer, (T) 12,000 16,000
dsid dd:o$ 3113 '2A14

20o/o

40%

I ltililt Illt ilt ililt Iilil lilt lil

cxY
600 400 100
900 900 700
40 20 10
25 10

20,000 1,000 1,000
2033

{r.?r W cs*rC,\^/E., MJ.,rg.

x
Y

deavo eeD&Jil9 X a$Q Y dqjd$$4 6r d$ndod doaid dndz,Se$ :

ABCXY
30% 4Oo/o 1O"/"

2Ao/o 2O/" 20"/"

dagd0 dr&ddo$end roa:nrdo$ &edd rl$:?.J .. of ?.j

erd9d ab ee3;{fl$ &$ddo o$a fl dedo*dooad
deoro$ dddrl$O_ Bdde aQisDnd
dzfldO- Bdde ildrddoJ: en nd
uco$ab abc,rddo$eDRd erdd dzdd0 ieoBennE

@ :ol LJ o. 6.

e:oaol> doriob&4 deaaoB: d)ddil$O-t dfldenhd
dearoxld ddErlgr)-t,mro6" "qdrq aidn dndenr$dd
qeorlG doooaedd ( deauolp dddrl$O- B"qg * I
deaaoio arodo3: O- a QBen d sa*u6d BddQ

dearod: andrl$O- enqn odd$4 e If adaisD Rd

d earo,$d d)d dd$O- dDg, csaaD en R d:d d9rdd a od d{

deaa .asasEo$ dqfsq erusodoa a?[odd6 DdoBer: afrq -'9e etuqdoD .aetrsjod)

rlotSod: ddd$4 eJdo aado: ildo.BBennd.

1 1. €r ESnd eroEerodileod Bdr*oi> deedd:dl dodDo& d.:Al qrQrd en?,JdQ
dod:bBoo:o:

dqd d)ddils 6uad 0{s enqJ

t
66,760

5,700
4,254
3,660
3,950

450
600
230
420
860

1,200

260
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